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pa R WO 7 =1 5=V g 5
FEAB A I +THERHELIY  16.9 20 m3
TR AR I, TTHEREHELY 277. 1 280 w3
JLmEEIE .55 x 8 + 1.6 x 18.3 +
1.65 X 15 + 1.8 X 17 +
+ 1.8 x 10.3 + 1.8 X 2
+ 0.45 x 70.3 = 150.91 150 m2
P b L L
e+ 277.1+ 16.9 294. 0
A 251.5+ 95.2 276. 7 280 w3
A1 (276.7-(294.0 X 0.9 ), X 1.33 16. 1 20 m3




P B T By = B H I
7Ly A MEEE T
4 R WO & B 2V ¥ B
LA BERE T, 1800 X 2000 2.000 x = 8.0 8.0m
1900 X 2000 2.000 X = 16.0 16.0 m
1900 1316 1.316 x = 1.3 1.3m
1900 X 1000 1.000 x = 1.0 1.0m
2000 X 2000 2.000 x = 10.0 10.0 m
2000 X 1000 1.000 x = 3.0 3.0m
2000 X 1000 1.000 x = 2.0 2.0m
2100 X 2000 2.000 x = 16.0 16.0 m
2100 X 1000 1.000 x = 1.0 1.0m
2200 % 2000 2.000 x = 8.0 8.0m
2200 X 1000 1.000 x = 1.0 1.0m
2200 X 1270 1.270 x = 1.3 1.3m
—Feoq° &
1777907 1 9000 % 2002 1 B
HF = 70.6 70.6 m
LA BERE 1
H=1800 f&¥E 1800 X 2000 4 4 &
LU BeRE T
H=1900 fE#E 1900 X 2000 8 8 A
LA BERE 1
H=1900 4} 1900 X 1316 1 1 A&
LU BERE T
H=1900 #}f4 1900 X 1000 1 1 A&
LA BERE 1
H=2000 f&¥E 2000 X 2000 5 5 A
LU BERE T
H=2000 %R 2000 X 1000 3 3K
LA BERE 1
H=2000 4} 2000 X 1000 2 2 K
LU BERE T
H=2100 fE#E 2100 X 2000 8 8 A
LA BERE 1
H=2100 4R 2100 X 1000 1 1 &
LU BERE T
H=2200 fE#E 2200 X 2000 4 4 K
LA BERE 1
H=2200 4} 2200 X 1000 1 1 A&
LU BERE T
H=2200 #}f4 2200 X 1270 1 1 A&
LA BERE 1
H=2200 a-7- 2200 X 2002 1 1A




ff i T B = B = &
T
4, % Bk o = % R
e N R R S Y NIE A
t=10cm 176. 4 176 m2
B2t T i THEE £ ¥
Gr-Cp—2E 72.3 = 72.3 72 m
AR A T i TIHER & Y
H=1100 72.3 + 2.0 = 74. 3 74 m




HE K M & B L OB E
HE T
£ N Wk B = # ity
450 U
R T Wt - FRE| MmkY
72.3 - 1.3 0.7 = 70.3 70 m
a7 Y —RT| 18-8-25-BB | A LY
t=10cm | 70.3 X 0.1 = 7.03 7 ot
7k1nt%]: UA 18— KA
MR A5 7 | 2.145X 1. 000 1 ¥
a7 U— KM KEk?
18-8-25-BB | 0.59 0.59 nf
Tl P B & v
7.36 7.36 nt
a7 Y—k
Hll L 3 X = 6 6 7L
ki T
SD345 D13 0.5 X 2 X 0.995 = 2.985 2.99 kg




i H T By i i H I
SHEET
pa R O 7 =1 = g =
B eR t=5cm HEEHEAEHE LY
72.3 72 m
A R A HEEHEEHE LY RS INED
t=5cm 1.1 -+ 25 26. 1 30 m2
T S EEHE LY AL LTS
RC-40
t=12cm 166. 4 + 25 = 191.4 190 m2
FE SRR HE LY BLES 2 INDED
HERIASL3
t=3cm 167. 2 + 25 192. 2 190 m2
RC-40
T A t=15cm 40 X 1.5 = 60.0 60 m2
HERIAs13
Z = t=5cm 40 X 1.5 = 60.0 60 m2




& ¥ W = L B & O OE O E
SRR T
4 B % 3 =) = G
s I Ash™7 26.1 X 0.05 = 1.305 1 m3
BT AN Ash™ 7 1 m3
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+ T % & HEHE
NO. 1
I MR (G M ) i
Al emege | v PRI R (GE ) HE R OK ) JEHI #ECo fii%
m oA MElm B BElm B Blm B Blm B Mm B BElm B M
No. 3+8. 7 68. 700 1.41 1.00 0. 00 0. 00 0. 00
1. 300 0.9 0.7 0.0 0.0 0.0
No. 3+10. 0 70. 000 0. 00 0. 00 0. 00 0. 00 0. 00
0. 700 1.1 0.9 0.1 0.0 0.0
No. 3+10. 7 70. 700 3.18 2.48 0.35 0. 00 0. 10
9. 300 32.9 26.3 3.3 0.7 0.9
No. 4 80. 000 3.90 3. 17 0.35 0.16 0. 10
10. 000 38.9 32.8 3.6 2.2 1.0
No. 4+10. 0 90. 000 3. 87 3.39 0. 37 0.27 0. 10
10. 000 38.0 33.9 3.6 2.7 1.0
No. 5 100. 000 3.72 3.38 0.35 0.26 0. 10
10. 000 38.4 35.5 3.5 2.8 1.0
No. 5+10. 0 110. 000 3. 96 3.72 0.35 0. 30 0. 10
10. 000 39.2 37.2 3.5 3.5 1.0
No. 6 120. 000 3. 88 3.71 0.34 0. 39 0. 10
10. 000 40. 3 38.7 3.5 2.6 1.0
No. 6+10. 0 130. 000 4.17 4.03 0. 36 0.13 0. 10
10. 000 42. 6 41.3 3.7 2.1 1.0
No. 7 140. 000 4.34 4.23 0. 37 0.29 0. 10
1. 000 4.8 4.2 0.4 0.3 0.1
No. 7+1. 0 141. 000 5. 17 4.23 0. 37 0.29 0. 10
/B 72.3 277. 1 251.5 25.2 16.9 7.0 0.0 0.0
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Ay ik Ju 2] Fe 2]
Woa | e | gy [EUSNRE | FE R =) fii %
I T T L E T E T I T T

No. 3+8. 7 68. 700 0.21 1.28 1.28
1. 300 0.3 0.8 1.3

No. 3+10. 0 70. 000 0.21 0. 00 0.74
0. 700 0.1 0.6 0.9

No. 3+10. 7 70. 700 0. 00 1.76 1.76
9. 300 0.0 19.0 19.0

No. 4 80. 000 0. 00 2.31 2.31
10. 000 0.0 23.1 23.1

No. 4+10. 0 90. 000 0. 00 2.31 2.31
10. 000 0.0 23.1 23.1

No. 5 100. 000 0. 00 2.30 2.30
10. 000 0.0 23.5 23.5

No. 5+10. 0 110. 000 0. 00 2. 40 2. 40
10. 000 0.0 24. 1 24. 1

No. 6 120. 000 0. 00 2.41 2.41
10. 000 0.0 24. 6 24. 6

No. 6+10. 0 130. 000 0. 00 2.51 2.51
10. 000 0.0 25.1 25.1

No. 7 140. 000 0. 00 2.51 2.51
1. 000 0.7 2.5 2.5

No. 7+1.0 141. 000 1. 46 2.51 2.51

NG 72.3 1.1 166. 4 167. 2 0. 00 0. 00 0. 00 0. 00
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Pig= 7 ) —b $o& B W F

NO. 1
W | e | e o fi 5
m o s
No. 3+14. 0 74. 000 2.67
6. 000 16.0
No. 4 80. 000 2.67
10. 000 25.2
No. 4+10. 0 90. 000 2.36
10. 000 23.6
No. 5 100. 000 2.36
10. 000 23.6
No. 5+10. 0 110. 000 2.36
10. 000 24.6
No. 6 120. 000 2.56
10. 000 24.9
No. 6+10. 0 130. 000 2. 41
10. 000 24. 8
No. 7 140. 000 2.54
1. 000 2.5
No. 7+1. 0 141. 000 2.54
2.200 5.6
No. 7+3. 2 143. 200 2.54
5.6
/B 69. 2 176. 4 0.0 0.0 0.0 0.0 0.0 0.0
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